Consolidation work 4 — First Level **

Please show working/strategy for questions in red.

1. If T spend 90p and pay with £1.00, how much change will I receive?
3X7-=

40 divided by 4 equals?

Add 21 and 67

19 add 45

o > w0 N

6. 27 -9
7. Subtract 21 from 87

8. 4 multiplied by 12 is?

9. I arrived at the airport at quarter past 8 in the morning. Write down this
time in digital format. (Remember to include a.m. or p.m.)

10. Round 917 to the nearest 10

11. Round 601 to the nearest 10

12. Round 455 to the nearest 100

13. What is 207 to the nearest 100?

14.100-29=____ ?



15.
16.
17.

18.
19.

20.

130, 150, ,

, 230, 250 complete the sequence

%1, ,
Double 225

661,

Double 60
A third of 33

Find a + of 24

., 361 complete the sequence



